Chapter 5 Review i) 2L, Name

lf n= 4, what does (3n-2)(5-n) equal? Show your work.
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@ The photos for the sports section of the newspaper have arrived! Each photo measures 2 by 3 inches and Samuel
needs to lay out a page that requires him to enlarge and reduce them in several ways. Explain which number(s) from the
list below Samuel should multiply each side length by to get each of the desired results. Explain
your reasoning in each case. ' = -
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19* 7 2+ H* 8* 3
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a. To make the photo much larger. }_% = %A_; ot bigag- T\v;\_,w\ 4
b. To make the photo slightly la_rger. ¥ = sl QLYJ u} b“"a%” T \
¢.  To make the photo much smaller. — %6 clese. o zewe

d. To make the photo slightly smaller. % close o\

©. To keep the photo the same size.

@ Multiply the following . Show your work.
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c. 2.5(1.3) X1 2 - d. 3(41/6) 3.4&




omplete each Representations of a Portion Web below.
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ow can rectangles help you find the areas of the irregular shapes below? Talk

With your team or partner about what rectangles you see in the shapes and how the !
areas of those rectangles can help you find the total area of each larger, irregular ‘
shape. All angles are right angles:

\ a. . Find the shaded area. iﬁ\?\ﬂ‘ hrva = Lo
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dditional Challenge: On graph paper, graph AABC if 4 is at (-2, —3), Bis at (=2,
'5),and Cis at (3, 0). ‘ |

St N a Whatis the length of the base of A4BC? Label side 4B with its length in grid
" units. R ‘ Suarnads
e b. What is the height of AABC? Draw this length on your graph and label it. S U;m%
W | c. What is the area of AABC? Show how you got your answer.
B d. If you formed a parallelogram with the triangle on your graph using a copy of
' AABC, where would the fourth vertex be? Is there more than one possible
answer? (3 %,:) ‘
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« 5-3. For each product below, choose the dlagram beLow that mjght be useful. Complete 1t t ind.
the product.
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« 5-11. Grace and William were wondering if one halfofa I
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quarter would be the same as one quarter of a half. “But . 5 g
half of something is 50% and a quarter is the same as : tlT \ \
25%, so if that’s true, then 25% of 50% should be the 7 S

same as 50% of 25%. Something seems wrong with that to me,” Gracesald —ﬁ-\ |
. Invefttgﬁte&grj%e and William’s question by completing p //(53 t-hrough (c) be][ v
z¢t  a. Draw a picture that shows one half of one fourth.
2 b. Draw a picture that shows one fourth of one half. =~
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c. Write a note to Grace and William explaining how these two values compare and why the

result makes sense. oo mckmvea e e S Coan ket R
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o 5-22. Additional Challenge: Calculate each ‘of the following parts of parts. " a
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